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(1) SQL (Structured Query Language) 17 E5E7E T VU FEARH MR FTEH] 2 (A) Relational (B) Frame (C) Network (D)
Hierarchical.

(2) P NE 0375 > DL SRR » HATES (A) 0.0101 (B) 0.101 (C) 0.011 (D) £ I 453E.

(3) iR LB (A) fourth-generation language (B) third-generation language (C) fifth-generation language (D)
second-generation language.

(4) UML (Unified Modeling Language) 1225 HIA{W (A) HBESARET (B) W08 » 2551 () Zokldislzl (D) 4548
fkasit. .

(5) 10110011 1 2 BURTES (A) 01001100 (B) 11001100 (C) 01001101 (D) LA 454k,

(6) il & pipelining MEHI S (A) M3 processing JEFE (B) 121 memory Z&E (C) )] interface ilE (D) I8
# networking {7

(7)y {12 WWW T il I m & URL? (A) Page (B) Protocol (C) Topology (D) Internet address. Q\

(8) —Miifil i > FEMRBERR IR A Al (Systems Development Life Cycle) BEFRF#54 g8 > DUITEMEESEE 2 (A) BH#
il (B) RMAHTELGE T (O) RIHEL (D) Bk

9) Pl R Y machine cyele 2 (A) Fetch (B) Store (C) Decode (D) Link.

(10) K RIS AT T3 AP R R TP A RERIES (A) Cache (B) Encoder (C) Register (D) Loader.

(11)Whereas a standard dial-up telephone line carries only one signal, digital T-carrier lines use so that multiple signals

share the line. {A) multiplexing (B) file sharing (C) packet switching (D) collaborating.

(12)A is a communications device that connects multiple computers and transmits data to its correct destination on the
network. (A) multiplexer (B) router (C) server (D) network card.

(I3)AT3 fine is equatin speed to _ T1 lines. (A) 28 (B) 256 (C) 76 (D) 8. (BIRG AT & 5L

(14)A __ is a program that copies itself repeatedly, for example, in memory or on a network, using up resources and possibly
shutting down the computer or network. (A) Trojan horse (B) Worm (C) Spam (D) Cybercrime.

(I5)A vanslator called @ translates and exccutes programs written in a symbolic language one statement at a time. (A)
compiler {B) editor (C) interpreter (D) loader.

(16)In structured design, system designers use a to show program modules graphically. (A) use case diagram (B) flow chart

(C structure chart (D) class diagram.

(17 When a computer uses TCP/IP to send data over the Internet, the data is divided into . {A) buses (B) records (C) signals
{D) packess.

(I8} The concept of packaging data and procedures mto a single object is called . (A) encapsulation (B) inheritance (C)
dynaric binding (D) assembling.

(1) Which of the following i the commonly used network topology? (A) LAN (B) Bus (C) Token (D) Bridge.

2maA is 2 lile that a Web server stores on a computer to collect data about the user, (A) hoax (B) spyware (C) cookie (D)

CTACKCT




ERBORELZSK 4 ZFEZ LR EA ARG

#a catisms  fAms B4 % 2 HE 2 A CELARBLEEAENESL

2.

3.

(21) Which answer is correct for the following statement: “Multiple computers are hooked up across the internet so the systems
can tackle computing problems together.” (A) Green computing (B) P2P computing (C) Centralized computing (D) Grid
computing.

(22) Which answer is correct for the following statement: “Holding all data until output is to be produced and then processing the
data collectively at one time.” (A) Transaction processing (B) Distributed processing (C) Batch processing (D) Interactive
processing.

(23)E-R diagram is used in (A) network planning (B) systems design (C) database design (D) project planning.

(24)Every CPU has a clock that generates clock pulses which  the computer’s operations. {A) synchronize (B) count (C)
speed (D) decompose.

(25)A  is a huge database that stores and lxxéﬁzigés the data required to analyze historical and current transactions. (A)

centralized database (B) data dictionary (C) data mine (D) data warehouse.

Calculate the number of bytes that are needed to store the address for a 256 MB RAM.  (5%)

Assume that the RAM access time 1s 10 ns, the cache access time is 2 ns and the hit rate is 60%, compute the expected memory

access time. (5%)
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5.

6.
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9.

Calculate the value of base x (>0) in 132, =90,,.  (5%)

What is the main function of an operating system? (5%)

What is multitasking in operating systems? (5%)

What is virtual memory? (5%

What are the three structures of program logic in structured programming or high-level programming languages? (10%)

What is the von Neumann architecture?  (10%)




